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Shriram Shikshan Sanstha's

Shriram Institute of Information Technology, Pani

Tel. - Malshiras, Dist. - Solapur, [MH] - 413113

NAAC Accredited with ‘B” Grade
Apptitude Attendance Sheet

Sr. No Student Name Class A T No. 1| AT No. 2
1  |Aayare Rohit Dattatray B.Sc(ECS) - 111 5 v
2 |Bagal Dhiraj Ramchandra B.Sc(ECS) - 111 B ©
3 |Barve Vitthal Hanumant B.Sc(ECS) - III P A
4  |Bhais Prajitsing Pratap B.Sc(ECS) - II £ P
5  |Bhange Yuvaraj Dadasaheb B.Sc(ECS) - 111 A P
6 |Bhosale Neha Ramkrushna B.Sc(ECS) - 11 A TAN
7  |Borate Nakul Pritam B.Sc(ECS) - I1I P =
8  |Chavan Pallavi Subhash B.Sc(ECS) - II P 'S
9  |Chopade Trishala Anantrao B.Sc(ECS) - 111 <D, ~
10 |Chormale Prakash Kundlik B.Sc(ECS) - I1I A P
11 |Deshmukh Harshvardhan Vilas B.Sc(ECS) - III & P
12 |Deshmukh Nikita Sanjay B.Sc(ECS) - I1I P =
13 |Deshmukh Samiksha Sunil B.Sc(ECS) - 111 B JAN
14 |Devkar Janki Surykant B.Sc(ECS) - 111 N =
15 |Dombe Shraddha Dhananjay B.Sc(ECS) - 111 P P
16 |Gadekar Sanyukta Santosh B.Sc(ECS) - I1I > A
17 |Gaikwad Sandip Shankar B.Sc(ECS) - 111 ° p
18 |Gajare Komal Babaso B.Sc(ECS) - I1I = =
19  |Gofane Rutuja Sanjay B.Sc(ECS) - I >y N

20 |Gulmire Pratiksha Rajaram B.Sc(ECS) - I1I 1 B
21 |Jadhav Dhiraj Sampat B.Sc(ECS) - III P =
22 |Jagdale Tejas Arun B.Sc(ECS) - 111 - P
23 |Joshi Sourbh Anil B.Sc(ECS) - III | A
24 |Kadam Shravani Vijay B.Sc(ECS) - I D P
25 |Kadam Vishal Ramchandra B.Sc(ECS) - 11T o | A
26 |Kale Kajal Annaso B.Sc(ECS) - 11 = O
27 |Kale Nita Satish B.Sc(ECS) - II il‘ P‘.
28 |Kale Sanjivani Vishnu B.Sc(ECS) - TII P B




29 |Kale Vikas Suresh B.Sc(ECS) - [é ST 2B ;D)
30 |Kambale Pallavi Abasaheb B.Sc(ECS) - E}i v %:f f p
31 |Karade Indrajit Nanaso B.Sc(ECS) - III\\ - - J%‘i;’/P
32 |Kate Navanath Janaradhan B.Sc(ECS) - 111 N % A
33 |Kate Vivek Maruti B.Sc(ECS) - III P P
34 |Khandagale Sayali Gulab B.Sc(ECS) - I1I D P
35 |Khankal Sayali Santosh B.Sc(ECS) - III P O
36 |Kokare Radhika Bandu B.Sc(ECS) - I P P
37 [Kulkarani Yesh Jagdish B.Sc(ECS) - III A | /A
38 |Lavate Rutuja Shivaji B.Sc(ECS) - III B 2
39 |Lawand Aadesh Mahadev B.Sc(ECS) - 111 P Jay
40 |Linge Ashwini Narayan B.Sc(ECS) - III e O
41 |Lokhande Rohan Sanjay B.Sc(ECS) - 111 = P
42  |Madane Prathmesh Ganpat B.Sc(ECS) - 111 N |
43  |Magar Mayur Malhari B.Sc(ECS) - 111 P P
44  |Magar Rutik Chandrkant B.Sc(ECS) - 111 P B,
45 |Mane Nikita Balkrushana B.Sc(ECS) - 111 Pr P
46 |Mane Priyanka Balbhim B.Sc(ECS) - III D =
47 |Mane Suraj Ramdas B.Sc(ECS) - 111 P >
48  |Mane Tejashri Sanjay B.Sc(ECS) - III P AN
49  |Maneri Sufiya Sameer B.Sc(ECS) - III B o T
50 |Maral Abhay Somnath B.Sc(ECS) - 111 j D
51 [Mhetre Varad Shantanu B.Sc(ECS) - II 5 i
52 [Mujawar Anisha Balam B.Sc(ECS) - III © P
53  |Nalawade Shriyash Anil B.Sc(ECS) - 111 Y P
54  |Nanaware Harishchandra dnyaneshwar B.Sc(ECS) - III B b
55 |Nikam Ganesh Subhash B.Sc(ECS) - I1I D A
56 |Nimbalkar Dhiraj Dhanaji B.Sc(ECS) - III = D
57 [Nimbalkar Madhuri Ravindra B.Sc(ECS) - III = P
58 |Parande Sushant Dhanayji B.Sc(ECS) - 111 12 P
59 |Patil Harshada Haridas B.Sc(ECS) - III P 1D
60 |Pawar Sarika Rajendra B.Sc(ECS) - I1I P P
61 |Rajput Sujata Dharamsing B.Sc(ECS) - 111 N I
62  [Raut Bhakti Anil B.Sc(ECS) - IiI B D
63 |Raut Dadasaheb Balu B.Sc(ECS) - 11 p p
64 [Raut Sanket Balu B.Sc(ECS) - I1I . p
65 |Salunkhe Sapana Sunil B.Sc(ECS) - I1I B | D




66 |Sargar Pooja Suresh B.Sc(ECS) - III %1 | '\'7 z%‘:
67 [Sarje Radhika Ramesh B.Sc(ECS) - III %‘ JAN ’ ,{ 5‘1
68 |Sawant Divya Dhananjay B.Sc(ECS) - 111 fj‘)\ . " /;\Q,Qy
69 |Sawant Parimal Subhash B.Sc(ECS) - III O i \;BSW * L
70  |Sawant Yeshraj Vijaysinha B.Sc(ECS) - 111 'P j

71  |[Sawnat Gorkhanath Sukhadev B.Sc(ECS) - III o 2

72 |Shaikh Nasirhusen Asidulla B.Sc(ECS) - III N | X

73 |Shinde Akash Subhash B.Sc(ECS) - III j o A

74  |Shinde Gaurav Rajendra B.Sc(ECS) - I1I A A

75  [Shinde Komal Dilip B.Sc(ECS) - III % D

76  [Shinde Prasad Prakash B.Sc(ECS) - III A= P

77 |Shinde Pratiksha Vijay B.Sc(ECS) - 11 H .

78  [Shinde Raj Santosh B.Sc(ECS) - III ]:} A

79  |Shinde Shivani Bapu B.Sc(ECS) - III P

80 |Solankar Shivam Dhananjay B.Sc(ECS) - 11 o P

81 [Sonawale Omkar Appaso B.Sc(ECS) - I D S:)

82 |Tamboli Nilofar Majid B.SC(ECS) - III 2 A

83 |Tele Amruta Mahadev B.Sc(ECS) - III Pﬁ\ B

84 [Thavare Maya Ankush B.Sc(ECS) - III P 1=

85 |Valkunde Mahaesh Bhanudas B.Sc(ECS) - III g_ ,R

86 |Waghmode Amruta Chandrakant B.Sc(ECS) - III 42 ?

87 |Waghmode Shivratna Bhagwan B.Sc(ECS) - III P A

88 |Waghmode Supriya Ramdas B.Sc(ECS) - I1I > =

89 [Waghmode Vidya Suresh B.Sc(ECS) - 11 2 ;=

90 [Waghmode Yogita Dilip B.Sc(ECS) - III 2N s G

91 |Zanje Amruta Ashok B.Sc(ECS) - 111 P =

92 |Bagal Ganesh Gorakh BCA - 111 78 |

93  |Bhusare Akankasha Vinayak BCA - III P o

94  [Budhanavar Vidya Bharat BCA - III [;r N

95 |Gorave Ashish Shahikant BCA - III p p

96 |Gore Shital Bhagvan BCA - III - p

97 |Jadhav Seema Shivaji BCA - 111 D =

98 |Kambale Karan Shantaram BCA - III s A

99 |Kawale Priyanka Dattatray BCA - III P '8

100 |Kumbhar Pooja Santosh BCA - III P P

101 |Latkar Rajnandini Shashikant BCA - III ° >

102 |Lavate Patil Mahesh Chandrkant BCA - III e |42




103 [Mile Vaibhav Bapurao BCA - III "
104 [Naiknaware Karuna Nagnath BCA - III s (/8
105 [Pawar Shivani Janardhan BCA - III o -1
106 |Sagar Prajakta Dattatray BCA - III g o)
107  [Shinde Rupali Vasudev BCA - III | P\-\
108 |Waghmode Kiran Hanumant BCA - III PY 'P
109 |Zende Nikita Balaso BCA - III P P
110 |Waghmode Sonali Dhanaji BCA - III P p
111 |Adalinge Mangesh Raosaheb M.Sc(Comp.Sci) - II A f)r
112 [Aivale Divya Vijaykumar M.Sc(Comp.Sci) - IT ™ =
113 |Bandgar Komal Dayanand M.Sc(Comp.Sci) - II = P
114 |Bhosale Suraj Jagannath M.Sc(Comp.Sci) - 11 | P o
115 [Bhosale Urmila Ramesh M.Sc(Comp.Sci) - II P P
116 |Bhosale Vaibhav Vasant M.Sc(Comp.Sci)-11| P |
117 |Bobade Minakshi Sanjay M.Sc(Comp.Sci) - II B A
118 |Dhole Esha Santosh M.Sc(Comp.Sci) - IT » (A
119 [Gaikwad Ashwini Anant M.Sc(Comp.Sci) - II H ’P
120  [Gajare Amol Subhash M.Sc(Comp.Sci) - II P N
121  |Gorve Prajakta Sunil M.Sc(Comp.Sci) - II 4= |
122 |Jadhav Kishor Mahadev M.Sc(CompSciy-11| P | I
123 |Jadhav Sudhir Shankar M.Sc(Comp.Sci) - II =¥ P
124 |Jagdale Gauri Jalindar M.Sc(Comp.Sci) - II . |24
125  |Jare Rohit Samadhan M.Sc(Comp.Sci) - II © I
126 (Karande Snehal Madhukar M.Sc(Comp.Sci) - 11 P ()
127  [Kate Priyanka Mukund M.Sc(Comp.Sci) - IT /3~ @
128  [Khan Sonobar Firoj M.Sc(Comp.Sci) - 11 fl D
129 |Kokare Ashwini Bandu M.Sc(Comp.Sci)-11| D
130 |Kudale Rutuja Popat M.Sc(Comp.Sci) - 11 P P
131  |Kulkarani Onkar Kishor M.Sc(Comp.Sci) - II P A
132 [Lokhande Vishvajit Mohan M.Sc(Comp.Sci) - II A_ D
133 |Londhe Dewangi Gautam M.Sc(Comp.Sci) - 11 D D
134 |Magar Aishwarya Shrirang M.Sc(Comp.Sci) - II & P
135 |Magar Komal Sarjerao M.Sc(Comp.Sci) - II P p
136 [Magar Vaishnavi Nanaso M.Sc(Comp.Sci) - II P p
137 |Mane Swati Ramesh M.Sc(Comp.Sci) - II p ,L%
138 |Misal Amol Sadashiv M.Sc(Comp.Sci) - 11 / %- P
139 |Mulani Aalesha Innus P | P

M.Sc(Comp.Sci) - 11




140  |Mulani Alfiya Babalu
141 |Nanaware Priyanka Popat M.Sc(Comp.Sci) - 11
142 |Pilave At Hafuiiaiit M.Sc(Comp.Sci) - 11 N
143 |Parade Tejashri Namdev M.Se(Comp.Sei)-11 | P
144 |Pawar Prajakta Ganpat M.Sc(Comp.Sci) - 11 p s
145 |Pawar Sonali Namdeo M.Sc(Comp.Sci) - I P P
146 [Sargar Mahesh Dnyandev C(CompEci) -1 P P
147 |Sathe Swapnil Madhukar M.Se(CompSciy-1r | A | 12
148 [Shaikh Muskan Mubarak et Compech) - I Pr )A
149 |Shembade Pramod Balaso MSc(Compse-11| P | P
150 |Shende Megha Sanjay M.Sc(Comp.Sci) - 11 ) P
151 |Taktode Rupali Vaman M.Sc(Comp.Sci) - II P p
152 |Ushade Akshay Arun M.Sc(Comp.Sci) - 11 A P
153 |Waghmode Anil Uttam x-zcﬁgomp.SCi) i /g_ P

.Sc(Comp.Sci) - 11 p
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Shriram Shikshan Sanstha's

i) [ . . .
\&w/. Shriram Institute of Information Technology, Paniv
plismmtan Tel. - Malshiras, Dist. - Solapur, [MH] — 413113 |
NAAC Accredited with ‘B’ Grade
Aptitude Test

Marks: - 15

Instructions: 1. All questions are compulsory.

2. Each question 1 mark.

Choose the correct alternative:
\/l’)/Aman swims 12 km downstream and 10 km upstream. If he takes 2 hours each time,

what is the speed of the stream?

A)lkmhr  B)0Skmhr \CSkm/hr D) 0.7 kn/hr
2) In how many years the simple interest on Rs. 6000 at 10% rate of interest S.I will
| tecome Rs. 2000

A) 3 months Lﬁ’)é months  C) 4 months D) 4.5 months
’ /%) In what time Rs. 6000 will give interest of Rs. 720 at the rate of 6% p.a. S.I.?
' A) 1.5 years ())%/Years C) 2.5 years D) 3 years
4) A jogger is running at a speed of 15 km/hr. In what time he will cross a track of length
< 400 meters?
A) 96 sec B) 100 sec C) 104 sec C Py 110 sec

5) The number of employees is reduced in the ratio 3: 2 and the salary of each employee are
(___ __inereased in the ratio 4: 5. By doing so, the company saves Rs. 12000. What was the initial

- expenditure on the salary?
A) 62000 B) 60000  C_C) 50000 D) 72000

6) The ratio of income of two workers A and B are 3: 4. The ratio of expenditure of A and
L//B’fs‘Z: 3 and each saves Rs 200. Find the income of A and B.
A) 500, 600 LLB)/&)O, 800 C) 600, 900 D) 800, 1000
7) The day on 5th April of a year will be the same day on 5th of which month of the same
%’ear?
A)5thJuly  B)Sth August (C)SthJune D) 5th October
What is the HCF of 1095 and 1168?

_A)37 (BB — 043 D)83



ysbﬁpkeeper bought a watch for Rs. 1200. At what price should he sell the watch to

earn a profit of 25% ?

LAYRs. 1400 B)Rs. 1450 C) Rs. 1500 D) Rs. 1550

10) A train overtakes two persons who are walking in the same direction in which the train

is going, at the rate of 2 kmph and 4 kmph and passes them completely in 9 and 10 seconds

respectively. The length of the train is:

A) 45m B) 50m C) 54m [ D) 72m

11) Two stations A and B are 110 km apart on a straight line. One train starts from A at 7

S 4 m. and travels towards B at 20 kmph. Another train starts from B at 8 a.m. and travels
towards A at a speed of 25 kmph. At what time will they meet?
A)9am. ([ B)yloam. C) 10.30 a.m. BP)11. a.m;
- 12) Robert is travelling on his cycle and has calculated to reach point A at 2 P.M. if he
~ travels at 10 kmph, he will reach there at 12 noon if he travels at 15 kmph. At what speed
must he travel to reach A at 1 P.M.? |
A) 8 kmph \__B)1T kmph C) 12 kmph D) 14 kmph
13) A farmer travelled a distance of 61 km in 9 hours. He travelled partly on foot @ 4
Ao km/hr and partly on bicycle @ 9 km/hr. The distance travelled on foot is:
C_Aytdkm B) 15 km C) 16 km D) 17 km
14) A and B can do a work in 8 days, B and C can do the same work in 12 days. A, Band C
\/@éther can finish it in 6 days. A and C together will do it in :
A) 4 days B) 6 days _C)8days D) 12 days

15) The cost price of 20 articles is the same as the selling price of x articles. If the profit is

%%, then the value of x is: |

A) 15 B)16 \__C)18 D) 25
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Shriram Shikshan Sanstha's
Shriram Institute of Information Technology, Paniv

Tel. - Malshiras, Dist. - Solapur, [MH] — 413113
NAAC Accredited with ‘B’ Grade

Aptitude Test

Marks: - 15

Instructions: 1. All questions are compulsory.

2. Each question 1 mark.

Choose the correct alternative:

% 1) A man swims 12 km downstream and 10 km upstream. If he takes 2 hours each time,
| what is the speed of the stream?
A)l1km/hr  BY0S5Skm/hr  C) 1.5 km/hr D) 0.7 km/hr
2) In how many years the simple interest on Rs. 6000 at 10% rate of interest S.I will
\)eeome Rs. 20007
A)3 months \By3.5 months  C)4 months D) 4.5 months
3) In what time Rs. 6000 will give interest of Rs. 720 at the rate of 6% p.a. S.L.?
= A) 1.5 years B) 2 years \_C)-2:5 years D) 3 years
4) A jogger is running at a speed of 15 km/hr. In what time he will cross a track of length

% 400 meters?

A)9 sec  \UB)100 sec C) 104 sec D) 110 sec
5) The number of employees is reduced in the ratio 3: 2 and the salary of each employee are
increased in the ratio 4: 5. By doing so, the company saves Rs. 12000. What was the initial
- expenditure on the salary? |
A) 62000 B) 60000  \__€)50000 D) 72000
6) The ratio of income of two workers A and B are 3: 4. The ratio of expenditure of A and
\_/:is 2: 3 and each saves Rs 200. Find the income of A and B.
A) 500,600 \_By600, 800 C) 600, 900 D) 800, 1000
7) The day on Sth April of a year will be the same day on 5th of which month of the same
k’/year? |
A) 5th July\__B)-5th August C) 5th June D) 5th October
8) What is the HCF of 1095 and 1168?

S w3 BB O D)8



" /9/)4’1 shopkeeper bought a watch for Rs. 1200. At what price should he sell the watch to

earn a profit of 25% ?

(A}Rs. 1400 B)Rs. 1450 C)Rs. 1500 D) Rs. 1550

10) A train overtakes two persons who are walking in the same direction in which the train

(,>4s going, at the rate of 2 kmph and 4 kmph and passcs them completely in 9 and 10 seconds

respectively. The length of the train is: |

A) 45m B) 50 m _O)y54n D) 72 m

11) Two stations A and B are 110 km apart on a straight line. One train-starts from A at 7

t 20 kmph. Another train starts from B at 8 a.m. and travels

\/a/.fn. and travels towards B a
towards A at a speed of 25 kmph. At what time will they meet?

-Mm. B) 10 a.m. C) 10.30 a.m. D) 11.am.

12) Robert is travelling on his cycle and has calculated to reach point A at 2 P.M. if he

travels at 10 kmph, he will reach there at 12 noon if he travels at 15 kmph. At what speed

/ ?
~+ musthe travel to reach A at 1 P.M.?
A)Skmph B)llkmph  C)12kmph D) 14kmph

13) rmer travelled a distance of 61 km in 9 hours. He travelled partly on foot @ 4

“km/hr and partly on bicycle @ 9 km/hr. The distance travelled on foot is:

LA) Hkm B) 15 km C) 16 km D) 17 km
14) A and B can do a work in 8 days, B and C can do the same work in 12 days. A, Band C
) ther can finish it in 6 days. A and C together will do it in :
L /toge
A)4 days B)6days [ C) 8days D) 12 days

15) The cost price of 20 articles is the same as the selling price of x a

\_25%, then the value of x is:
A) 15 B) 16 8 D) 25

rticles. If the profit is
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Instructions: 1. All questions are compulsory.

2. Each question 1 mark.

Choose the correct alternative:

A man swims 12 km downstream and 10 km upstream. If he takes 2 hours each time,
what is the speed of the stream?
A) 1 km/hr B) 0.5 km/hr (OS5 km/hr D) 0.7 km/hr
2) In how many years the simple interest on Rs. 6000 at 10% rate of interest S.I will
>< become Rs. 2000?
A) 3 months  B) 3.5 months LCY4 months D) 4.5 months
K/3)l.n what time Rs. 6000 will give interest of Rs. 720 at the rate of 6% p.a. S.L.?
A) 1.5 years B) 2 years (_C)y25 years D) 3 years
4) A jogger is running at a speed of 15 km/hr. In what time he will cross a track of length
\%‘neters?
A) 96 sec B) 100 sec &,Q’mél/s_ec D) 110 sec
5) The number of employees is reduced in the ratio 3: 2 and the salary of each employee are
&ncreased in the ratio 4: 5. By doing so, the company saves Rs. 122000. What was the initial
: eipenditure on the salary? |
A) 62000 «_BY60000 C) 50000 " D) 72000
6) The ratio of income of two workers A and B are 3: 4. The ratio of expenditure of A and
\/B’IS{ 3 and each saves Rs 200. Find the income of A and B.
A) 500, 600 \m 800 C) 600, 900 D) 800, 1000
7) The day on Sth April of a year will be the same day on Sth of which month of the same
year? B
\_,// A) 5th July \,B’)% August C) 5thJune D) 5th October
8) What is the HCF of 1095 and 1168?

k A3 (BB 043 D)83



! 9) A shopkeeper bought a watch for Rs. 1200. At what price should he sell the wlatch to
earn a profit of 25% ?

A)Rs. 1400 B)Rs. 1450 ¢ C)Rs 1500 D) Rs. 1550

10) A train overtakes two persons who are walking in the same direction in which the train
\_-—1is going, at the rate of 2 kmph and 4 kmph and passes them completely in 9 and 10 seconds
respectively. The length of the train is: |
A) 45m B) 50 m C) 54m By 72m
11) Two stations A and B are 110 km apart on a straight line. One train starts from A at7
r>< a.m. and travels towards B at 20 kmph. Another train starts from B at 8 a.m. and travels
- towards A at a speed of 25 kmph. At what time will they meet?
A) 9 am. ( Byt0am. C) 10.30 a.m. D) 11. am.
12) Robert is travelling on his cycle and has calculated to reach point A at 2 P.M. if he
travels at 10 kmph, he will reach there at 12 noon if he travels at 15 kmph. At what speed
must he travel to reach A at 1 P.M.?
A) 8 kmph B) 11 kmph ¢ C)12kmph D) 14 kmph
13) A farmer travelled a distance of 61 km in 9 hours. He travelled partly on foot @ 4
C><km/hr and partly on bicycle @ 9 km/hr. The distance travelled on foot is:
| A) 14 km B)15km C)16km  D)17km
14) A and Beando a work in 8 days, B and C can do the same work in 12 days. A, Band C
K/tog,e(‘lre'r can finish it in 6 days. A and C together will doitin:
, A) 4 days B) 6 days VC{da;'s D) 12 days
15) The cost price of 20 articles is the same as the selling price of X articles. If the profit is

%& 25%, then the value of x is:

A5 (BIS— C) 18 D) 25
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Instructions: 1. All questions are compulsory.

2. Each question 1 mark.

Choose the correct alternative:

\__ 1) A man swims 12 km downstream and 10 km upstream. If he takes 2 hours each time,
what is the speed of the stream?
A) 1 km/hr B) 0.5 km/hr \_CG31:5 km/hr D) 0.7 km/hr
‘A 2) In how many years the simple interest on Rs. 6000 at 10% rate of interest S.I will
bec_ome Rs. 2000?
A) 3 months (B)3.5 months  C) 4 months D) 4.5 months
3) In what time Rs. 6000 will give interest of Rs. 720 at the rate of 6% p.a. S.L.?
— A) 1.5 years B) 2 years _C)2.5 years D) 3 years
4) A jogger is running at a speed of 15 km/hr. In what time he will cross a track of length

C>< 400 meters?

A)96sec  \_B) 100 sec C) 104 sec D) 110 sec

5) The number of employees is reduced in the ratio 3: 2 and the salary of each employee are
(>< increased in the ratio 4: 5. By doing so, the company saves Rs. liOOO. What was the initial
- expenditure on the salary?
A) 62000 \_B) 60000 C) 50000 " D) 72000
6) The ratio of income of two workers A and B are 3: 4. The ratio of expenditure of A and
: s 2: 3 and each saves Rs 200. Find the income of A and B.
A) 500,600 \ B) 6060, 800 C) 600, 900 D) 800, 1000
7) The day on S5th April of a year will be the same day on 5th of which month of the same
o LT
A) 5th July \B)-5th August C) 5th June D) 5th October
8) What is the HCF of 1095 and 1168?

\eost®™  pyag B) 73 C)43 | D)83



9) A shopkeeper bought a watch for Rs. 1200. At what price should he sell the wAatch to

%&rn a profit of 25% ?
A)Rs. 1400 B)Rs. 1450 Q) Rs.-1500 D) Rs. 1550

10) A train overtakes two pe
9< is going, at the rate of 2 kmph and 4 kmph and passes them completely in 9 and 10 seconds

respectively. The length of the train is: |
%) 45m  B) 50m C) 54m D) 72 m

A and B are 110 km apart on a straight line. One train starts from A

rsons who are walking in the same direction in which the train

11) Two stations at 7

a.m. and travels towards B at 20 kmph. Another train starts from B at 8 a.m. and travels

%ards A at a speed of 25 kmph. At what time will they meet?
\_AY9 a.m. B) 10 a.m. C) 10.30 a.m. D) 11. am.

12) Robert is travelling on his cycle and has calculated to reach point A at 2 P.M. if he

yﬂs' at 10 kmph, he will reach there at 12 noon if he travels at 15 kmph. At what speed

must he travel to reach A at 1 P.M.?

A) 8 kmph B) 11 kmph \C)yt2kmph D) 14 kmph

13) A farmer travelled a distance of 61 km in 9 hours. He travelled partly on foot @ 4

(>Qcm/hr and partly on bicycle @ 9 km/hr. The distance travelled on foot is:

A) 14 km B)15km ‘©y16km  D)17km

14) A and B can do a work in 8 days, B and C can do the same work in 12 days. A, Band C

(/@her can finish it in 6 days. A and C together will do it in :

A) 4 days B) 6 days __C)8days D) 12 days

15) The cost price of 20 articles is the same as the selling price of x articles. If the profit is

K. /2?’)0, then the value of x is:
A) 15 B) 16 LO8 D) 25
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Instructions: 1. All questions are compulsory.

2. Each question 1 mark.

Choose the correct alternative:

\/1)/A man swims 12 km downstream and 10 km upstream. If he takes 2 hours each time,

what is the speed of the stream?
_A)1km/hr  B)0.5 km/hr 5 knv/hr D) 0.7 km/hr

//
—__~2) In how many years the simple interest on Rs. 6000 at 10% rate of interest S.I will

become Rs. 2000?
_~A) 3 months \ﬁ)@?months C) 4 months D) 4.5 months

\_/\...3’)/In what time Rs. 6000 will giye interest of Rs. 720 at the rate of 6% p.a. S.L.?
A) 1.5 years \B)Z/uyear; C) 2.5 years D) 3 years
;}3‘)\4 jogger is running at a speed of 15 km/hr. In what time he will cross a track of length

400 meters? \/
~ A)96 sec B) 100 sec C) 104 sec . DY110 sec

K/S) The number of employees is reduced in the ratio 3: 2 and the salary of each employee are

increased in the ratio 4: 5. By doing so, the company saves Rs. 12000. What was the initial

- expenditure on the salary?
_A) 62000 B) 60000 0000 D) 72000

\__,_ﬁ)"{i'he ratio of income of two workers A and B are 3: 4. The ratio of expenditure of A and

B is 2: 3 and each saves Rs 200. Find the income of A and B.
A) 500, 600 00, 800 C) 600 900 D) 800, 1000

7) The day on 5th April of a year will be the same day on Sth of which month of the same

year?

//M uly B) 5th August C) 5th June D) 5th October
~8) What is the HCF of 1095 and 11682 |

A)37  B)73 C) 43 M



\\)’)’A shopkeeper bought a watch for Rs. 1200. At what price should he sell the watch to

earn a profit of 25% ?
.1400 B)Rs. 1450 C) Rs. 1500 D) Rs. 1550

M) A train overtakes two persons who are walking in the same direction in which the train

is going, at the rate of 2 kmph and 4 kmph and passes them completely in 9 and 10 seconds

respectively. The length of the train isi/c/
_A) 45m B) 50 m ) 54m D) 72 m

< 11 Two stations A and B are 110 km apart on a straight line. One train starts from A at 7

a.m. and travels towards B at 20 kmph. Another train starts from B at 8 a.m. and travels

towards A at a speed of 25 kmph. At what time will they meet?
M B) 10 a.m. C) 10.30 a.m. D) 11.am.
%I‘Z)Robert is travelling on his cycle and has calculated to reach point A at 2 P.M. if he

travels at 10 kmph, he will reach there at 12 noon if he travels at 15 kmph. At what speed

must he travelto reach A at 1 P.M.? |
“AY€ kmph B)11kmph  C)12kmph D) 14 kmph
He travelled partly on foot @ 4

3) A farmer travelled a distance of 61 km in 9 hours.

km/hr Wﬂn bicycle @ 9 km/hr. The distance travelled on foot is:
km B) 15 km C) 16 km D) 17 km

"]'Q)A__and B can do a work in 8 days, B and C can do the same work in 12 days. A, B and C

together can fi:istyﬁ;ys. A and C together will do it in :
A) 4 da 6 days C) 8 days D) 12 days

(\LlikThe cost price of 20 articles is the same as the selling price of x articles. If the profit is

25%, then the value of x is;
A) 15 M ) 18 D) 25
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Instructions: 1. All questions are compulsory.
2. Each question 1 mark.
Choose the correct alternative:
1)V A boat covers 800 meters in 600 seconds against the stream and returns downstream in 5
minutes. What is the speed of the boat in still water?
A)lm/s  BY1.5m/s C) 2 m/s D) 2.5 m/s
Sohan has borrowed Rs. 5000 at the rate of 6% S.I. what amount he needs to pay after 3

years to clear the debt?
QAMKG. 5500 B)Rs. 5900 C)Rs. 6100 D) Rs. 6300
- A car running at a speed of 140 km/hr reached its destination in 2 hours. If the car wants
to reach at its destination in 1 hour, at what speed it needs to travel?
A) 300 km/hr MO km/hr C) 250 km/hr D) 240 km/hr

4) A horse covers a distance of 1500 meters in 1 minute 20 seconds. At what speed the horse

is running?
A)67.2km/hr  B) 67.7 km/hr 67. 5 km/hr D) 67.9 km/hr

V&\The ratio of the salary of A and B, one year ago is 3: 2. The ratio of original salary to the
increased salary of A is 2: 3 and that of B is 3: 4. The total present salary of A and B
together is Rs. 21500. Find the salary of B.

A) 600 B) 7000 000 D) 9000
Which of the following years is not a leap year?

A) 80 B) 700 VQﬂﬁ) D) 2000
: It was Saturday on January 1, 2005. Find the day of the week on January 1, 2010.

\ﬁa’l’ uesday B) Friday C) Wednesday D) Sunday
O@ Find the HCF of 210, 385, and 735.

A)7 B) 14 \/@)”21 D) 35



ﬁ)Mohan bought an article at 25% less of the marked price and sold it at 15% more than

the marked price. Find the profit earned by him.
A) 53.3 % VB’é:/‘: C) 57.3% D) 52.3 %

/;i@)\A train overtakes two persons walking along a railway track. The first one walks at 4.5
km/hr. The other one walks at 5.4 km/hr. The train needs 8.4 and 8.5 seconds respectively
to overtake them. What is the speed of the train if both the persons are walking in the same

direction as the train?

A) 66 r B) 72 km/hr km/hr D) 81 km/hr
11y1In covering a distance of 30 km, Abhay takes 2 hours more than Sameer. If Abhay

doubles his speed, then he would take 1 hour less than Sameer. Abhay's speed is:

A) 5 katph 6 kmph C) 6.25 kmph D) 7.5 kmph
It takes eight hours for a 600 km journey, if 120 km is done by train and the rest by car.

It takes 20 minutes more, if 200 km is done by train and the rest by car. The ratio of the
speed of the train to that of the cars is:
A)2:%3 B)3 2 \'9)4/4 D)4:3

Vﬁ{i) The angle of elevation of the sun, when the length of the shadow of a tree \3 times the
height of the tree, is:
A) 30° B) 45° C) 60° D) 90°

W)\A can finish a work in 24 days, B in 9 days and C in 12 days. B and C start the work

but are forced to leaveafter 3 days. The remaining work was done by A in:
\),1)5/@@ \/B’é;;s C) 10 days D) 12 days
A

and B together can do a piece of work in 30 days. A having worked for 16 days, B

finishes the remaining work alone in 44 days. In how many days shall B finish the whole

work alone?
A) 30 days B)A40 days C) 60 days D) 70 days

Answer Key:
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Aptitude Test

Marks: - 15

Instructions: 1. All questions are compulsory.

2. Each question 1 mark.

Choose-the correct alternative:

A boat covers 800 meters in 600 seconds against the stream and returns downstream in 3

minutes. What is the speed of the boat in still water?

A)1m/ B 1.5 ms C) 2 m/s D) 2.5 m/s

ohan has borrowed Rs. 5000 at the rate of 6% S.1. what amount he needs to pay after 3

ylear the debt?
. A Rs. 5500 B)Rs. 5900 C)Rs. 6100 D) Rs. 6300
A car running at a speed of 140 km/hr reached its destination in 2 hours. If the car wants

to reach at its destination in 1 hour, at what speed it needs to travel?
e
A) 300 km/hr @))8’0 km/_hr C)250 km/hr D) 240 km/hr
D%A horse covers a distance of 1500 meters in 1 minute 20 seconds. At what speed the horse
is

unning?
A) 67.2 km/hr Mn/hr C) 67. 5 kiv/hr D) 67.9 km/hr

he ratio of the salary of A and B, one year ago is 3: 2. The ratio of original salary to the

ed salary of A is 2: 3 and that of B is 3: 4. The total present salary of A and B

.

increas
together is Rs. 21500. Find the salary of B.

=
A) 6000 B) 7000 C) 8000 D79000

Which of the following years is not a leap year?
A) 80 B) 700 \9@ D) 2000

) It was Saturday on January 1, 2005. Find the day of the week on January 1,2010.

%ay B) Friday C) Wednesday D) Sunday
Find the HCF of 210, 385, and 735.
A)7 \By( ©) 21 D) 35



9)y¥Mohan bought an article at 25% less of the marked price and sold it at 15% more than
the marked price. Find the profit earned by him.
A)53.3% B) 55% M D) 3523 %
) A train overtakes two persons walking along a railway track. The first one walks at 4.5
Dk%/ﬁr. The other one walks at 5.4 km/hr. The train needs 8.4 and 8.5 seconds respectively

to overtake them. What is the speed of the train if both the persons are walking in the same

direction as the train?

A)66km/hr  B) 72 knvhr anln D) 81 km/hr

\/l’i)ﬁ-covering a distance of 30 km, Abhay takes 2 hours more than Sameer. If Abhay
doubles his speed, then he would take 1 hour less than Sameer. Abhay's speed is:

A) 5 kmph \Ba/ﬁmph C) 6.25 kmph D) 7.5 kmph
' \)})’It takes eight hours for a 600 km journey, if 120 km is done by train and the rest by car.

It takes 20 minutes more, if 200 km is done by train and the rest by car. The ratio of the

speed of the train to that of the cars is:

A)2:3 B)3 12 374 D)4:3
‘0@) The angle of elevation of the sun, when the length of the shadow of a tree V3 times the
height of the tree, is:

A) 30° \,BMS/ C) 60° D) 90°
4) A can finish a work in 24 days, B in 9 days and C in 12 days. B and C start the work
but are forced to leave after 3 days. The remaining work was done by A in:
A) S days \_g)/o/days ' C) 10 days D) 12 days |
(7<L5\) A and B together can do »a piece of work in 30 days. A having worked for 16 days, B

finishes the remaining work alone in 44 days. In how many days shall B finish the whole

work alone?

A)30days  B)40 days Mays D) 70 days

Answer Key:
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Marks: - 15

Instructions: 1. All questions are compulsory.

2. Each question 1 mark.

Choose the correct alternative:
YA boat covers 800 meters in 600 seconds against the stream and returns downstream in 5

minutes. What is the speed of the boat in still water?
A) 1 m/s \/Bﬁ m/s C) 2 m/s D) 2.5 m/s
\}So‘h/an has borrowed Rs. 5000 at the rate of 6% S.I. what amount he needs to pay after 3
year&ﬁ"'éiéar the debt?
~AYRs. 5500 B) Rs. 5900 C)Rs. 6100  D)Rs. 6300
\/3—)/1@!1' running at a speed of 140 km/hr reached its destination in 2 hours. If the car wants
to reach at its destination in 1 hour, at what speed it needs to travel?
© A)300 km/hr “B)Y280km/hr - C)250 km/hr - D) 240 km/hr
\/ _AyAK horse covers a distance of 1500 meters in 1 minute 20 seconds. At what speed the horse
is running?
- ™A)67.2 km/hr  B) 67.7 km/hr C) 67. 5 km/hr D) 67.9 km/hr
’\})/l"h/e ratio of the salary of A and B, one year ago is 3: 2. The ratio of original salary to the
increased salary of A is 2: 3 and that of B is 3: 4. The total present salary of A and B
together is Rs. 21500. Find the salary of B.

A) 6000 B) 7000 C) 8000 \_B79000
\})/ﬁich of the following years is not a leap year?
A) 800 B) 700 Oy 1600 D) 2000
\Mﬁwas Saturday on January 1, 2005. Find the day of the week on January 1, 2010.
\/Kﬁlesday B) Friday C) Wednesday D) Sunday

\_8) Find the HCF of 210, 385, and 735.
A) 7 . B) 14 C) 21 D) 35



W] bought an article at 25% less of the marked price and sold it at 15% more than
the marked price. Find the profit earned by him.
A) 53.3 % B) 55% Er573% D) 52.3 %

Mrain overtakes two persons walking along a railway track. The first one walks at 4.5
km/hr. The other one walks at 5.4 km/hr. The train needs 8.4 and 8.5 seconds respectively
to overtake them. What is the speed of the train if both the persons are walking in the same
direction as the train?

A) 66 ki - < BYT2 kmiht C) 78 kmv/hr D) 81 km/hr
In covering a distance of 30 km, Abhay takes 2 hours more than Sameer. If Abhay
doubles his speed, then he would take 1 hour less than Sameer. Abhay's speed is:
A)Skmph  \ B)6Kmph C) 6.25 kmph D) 7.5 kmph
OKZ{It takes eight _hours for a 600 km journey, if 120 km is done by train and the rest by car.
It takes 20 minutes more, if 200 km is done by train and the rest by car. The ratio of the
speed of the train to that of the cars is:
A)2:3 B)3:2 C)3:4 Byd:3
ﬂﬁ;\The angle of elevation of the sun, when the length of the shadow of a tree V3 times the
height of the tree, is: |
A) 30° L BT C) 60° D) 90°
@{t)\A can finish a work in 24 days, B in 9 days and C' in 12 days. B and C start the work
but are forced to leave after 3 days. The remaining work was done by A in:
A)5days  B)6days C) 10 days D) 12 days |
A and B together can do a piece of work in 30 days. A having worked for 16 days, B
finishes the remaining wofk alone in 44 days. In how many days shall B finish the whole

work alone?

A)30days _B)40days C) 60 days D) 70 days

Answer Key:
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Instructions: 1. All questions are compulsory.

2. Each question 1 mark.

Choose the correct alternative:
\)f)ﬁoat covers 800 meters in 600 seconds against the stream and returns downstream in 5

minutes. What is the speed of the boat in still water?

A)lms  \BYT5mis C) 2 m/s D) 2.5 m/s
mSOhan has borrowed Rs. 5000 at the rate of 6% S.I. what amount he needs to pay after 3

years to clear the debt?
A) Rs. 5500 . 5900 C)Rs. 6100 D) Rs. 6300

car running at a speed of 140 km/hr reached its destination in 2 hours. If the car wants

reach at its destination in 1 hour, at what speed it needs to travel?

" A)300 knvhr  \_ByZ80 km/hr C)250 km/hr D) 240 km/hr

p{)\A horse cWiﬁance of 1500 meters in 1 minute 20 seconds. At what speed the horse
is running? |
A)672km/hr  \BY677kmhr  C)67.5kmhr  D)67.9 km/hr

\/S‘)’lfé ratio of the salary of A and B, one year ago is 3: 2. The ratio of original salary to the

increased salary of A is 2: 3 and that of B is 3: 4. The total present salary of A and B

together is Rs. 21500. Find the salary of B.

A) 6000 B) 7000 C) 8000 B)9000
%)\Which of the following years is not a leap year?
A) 800 B)700 C) 1600 D) 2000
ﬁs\lt was Saturday on January 1, 2005. Find the day of the week on January 1, 2010.
A) Tuesday B) Friday '\Q/V\fednesday D) Sunday

\_8)yFind the HCF of 210, 385, and 735.
A)7 By @)21 D) 35



\mought an article at 25% less of the marked price and sold it at 15% more than
the marked price. Find the profit earned by him.

A)53.3° B) 55% \C¥57.3% D) 52.3 %
A train overtakes two persons walking along a railway track. The first one walks at 4.5

km/hr. The other one walks at 5.4 km/hr. The train needs 8.4 and 8.5 seconds respectively

to overtake them. What is the speed of the train if both the persons are walking in the same

direction as the train?
A) 66 km/hr Mn/hr C) 78 km/hr D) 81 km/hr
aiﬁtn covering a distance of 30 km, Abhay takes 2 hours more than Sameer. If Abhay
doubles his speed, then he would take 1 hour less than Sameer. Abhay's speed is:
AYS kmph B) 6 kmph C) 6.25 kmph D) 7.5 kmph
It takes eight hours for a 600 km journey, if 120 km is done by train and the rest by car.
It takes 20 minutes more, if 200 km is done by train and the rest by car. The ratio of the
speed of the train to that of the cars is:
A)2:3 \By3:2 C)3:4 D)4 :3
DQ3) The angle of elevation of the sun, when the length of the shadow of a tree V3 times the
height of the tree, is:
A) 30° B) 45° C) 60° Dy 90°
N) A can finish a work in 24 days, B in 9 days and C in 12 days. B and C start the work
btit are forced to leave after 3 days. The remaining work was done by A in:
A)Sdays  \UB)® days C) 10 days D) 12 days |
) A and B together can do a piece of work in 30 days. A having worked for 16 days, B
finishes the remaining work alone in 44 days. In how many days shall B finish the whole

work alone?
\«Aﬁays B) 40 days C) 60 days D) 70 days

Answer Key:
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Aptitude Test
Marks: - 15
Instructions: 1. All questions are compulsory.
2. Each question 1 mark.
Choose /t};_g,correct alternative:
N bo’at covers 800 meters in 600 seconds against the stream and returns downstream in S

minutes. What is the speed of the boat in still water?
A)lmis O\ BYTS5m/s C) 2 m/s D) 2.5 m/s
\/W/h/as borrowed Rs. 5000 at the rate of 6% S.I. what amount he needs to pay after 3

years to clear the debt?
s. 5500 B)Rs. 5900 C)Rs. 6100 D) Rs. 6300

3)A car running at a speed of 140 km/hr reached its destination in 2 hours. If the car wants

/to reach at its destination in 1 hour, at what speed it needs to travel?

A) 300 km/hr @%Ok/m/hr C)250 km/hr D) 240 km/hr
\ﬂ/A/ho/rse covers a distance of 1500 meters in 1 minute 20 seconds. At what speed the horse

is running?—
2 km/hr B)67.7 km/hr C) 67. 5 km/hr D) 67.9 km/hr

>2The ratio of the salary of A and B, one year ago is 3: 2. The ratio of original salary to the
increased salary of A is 2: 3 and that of B is 3: 4. The total present salary of A and B
together is Rs. 21500. Find the salary of B.
A)6000 _— B)7000 W D) 9000
\())/VVﬁc/h of the following years is not a leap year?

A)800 __ B)700 \_eyT1600 D) 2000
\/Itwas Saturday on January 1, 2005, Find the day of the week on January 1, 2010.
\A,)/Tfesgav "~ B) Friday C) Wednesday D) Sunday

| 8) Find the HCF of 210, 385, and 735.
A)7 By 14 C) 21 D) 3

n
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gl

Q),,Moﬁiiﬁfl/)ought an article at 25% less of the marked price and sold it at 15% more than
the marked price. Find the profit earned by him.
A)533%  B)55% ST 3% D) 52.3 %

'\B\X‘A\.frﬁ{ﬁ'&ertakes two persons walking along a railway track. The first one walks at 4.5
km/hr. The other one walks at 5.4 km/hr. The train needs 8.4 and 8.5 seconds respectively
to overtake them. What is the speed of the train if both the persons are walking in the same
direction as the train?

A)66km/hr  B)72 km/hr Y78 knv/hr D) 81 km/hr
-\L ,1)Tii"govering a distance of 30 km, Abhay takes 2 hours more than Sameer. If Abhay

doubles his speed, then he would take 1 hour less than Sameer. Abhay's speed is:
A) 5 kmph W‘l C) 6.25 kmph D) 7.5 kmph
(}Z}I-ft'zikc;seight hours for a 600 km journey, if 120 km is done by train and the rest by car.
It takes 20 minutes more, if 200 km is done by train and the rest by car. The ratio of the
speed of the train to that of the cars is:
A)2:3 B)3:2 -, v il D)4:3
~13) The angle of elevation of the sun, when the length of the shadow of a tree V3 times the
'height of the tree, is:
INEL W . C)60° D) 90°
\L4)~Aﬁ?/finish a work in 24 days, B in 9 days and C in 12 days. B and C start the work:
but are forced to leave after 3 days. The remaining work was done by A in:
A)5days~  B)6days Q) lo-days D) 12 days |
&YS)/Aand B together can do a piece of work in 30 days. A having worked for 16 days, B
finishes the remaining work alone in 44 days. In how many days shall B finish the whole

work alone?

A) 30 days m C) 60 days D) 70 days

Answer Key:
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Sr. No Student Name Class A T No. 1| AT No. 2

| Aayare Rohit Dattatray B.Sc(ECS) - III
2 Bagal Dhiraj Ramchandra B.Sc(ECS) - 111
3 Barve Vitthal Hanumant B.Sc(ECS) - Il
4 Bhais Prajitsing Pratap B.Sc(ECS) - 111
5 |Bhange Yuvaraj Dadasaheb B.Sc(ECS) - 111
6 Bhosale Neha Ramkrushna B.Sc(ECS) - III
7 Borate Nakul Pritam B.Sc(ECS) - 111
8 Chavan Pallavi Subhash B.Sc(ECS) - 111
9 |Chopade Trishala Anantrao B.Sc(ECS) - 111
10  [Chormale Prakash Kundlik B.Sc(ECS) - 111
11  |Deshmukh Harshvardhan Vilas B.Sc(ECS) - I1I
12 |Deshmukh Nikita Sanjay B.Sc(ECS) - III
13  |Deshmukh Samiksha Sunil B.Sc(ECS) - 111
14 [Devkar Janki Surykant B.Sc(ECS) - 111
15 |Dombe Shraddha Dhananjay B.Sc(ECS) - 111
16 |Gadekar Sanyukta Santosh B.Sc(ECS) - III
17  |Gaikwad Sandip Shankar B.Sc(ECS) - 111
18 |Gajare Komal Babaso B.Sc(ECS) - ITI
19  |Gofane Rutuja Sanjay B.Sc(ECS) - III
20  |Gulmire Pratiksha Rajaram B.Sc(ECS) - III
21  |Jadhav Dhiraj Sampat B.Sc(ECS) - 111
22 |Jagdale Tejas Arun B.Sc(ECS) - I1I
23 |Joshi Sourbh Anil B.Sc(ECS) - III
24 |Kadam Shravani Vijay B.Sc(ECS) - 111
25 |Kadam Vishal Ramchandra B.Sc(ECS) - I1I
26 |Kale Kajal Annaso B.Sc(ECS) - III
27 |Kale Nita Satish B.Sc(ECS) - 111
28 |Kale Sanjivani Vishnu B.Sc(ECS) - II1




29 |Kale Vikas Suresh B.Sc(ECS) - 111
30 |Kambale Pallavi Abasaheb B.Sc(ECS) - III
31 |Karade Indrajit Nanaso B.Sc(ECS) - 111
32 |Kate Navanath Janaradhan B.Sc(ECS) - III
33 |Kate Vivek Maruti B.Sc(ECS) - I1I
34 |Khandagale Sayali Gulab B.Sc(ECS) - III
35 |Khankal Sayali Santosh B.Sc(ECS) - 111
36 |Kokare Radhika Bandu B.Sc(ECS) - 111
37 |Kulkarani Yesh Jagdish B.Sc(ECS) - 111
38 |Lavate Rutuja Shivaji B.Sc(ECS) - I1I
39 |Lawand Aadesh Mahadev B.Sc(ECS) - III
40 |Linge Ashwini Narayan B.Sc(ECS) - 111
41 Lokhande Rohan Sanjay B.Sc(ECS) - 111
42 |Madane Prathmesh Ganpat B.Sc(ECS) - 111
43  |Magar Mayur Malhari B.Sc(ECS) - III
44  |Magar Rutik Chandrkant B.Sc(ECS) - III
45 |Mane Nikita Balkrushana B.Sc(ECS) - 111
46 [Mane Priyanka Balbhim B.Sc(ECS) - 111
47 |Mane Suraj Ramdas B.Sc(ECS) - I1I
48 |Mane Tejashri Sanjay B.Sc(ECS) - III
49  |Maneri Sufiya Sameer B.Sc(ECS) - III
50 |Maral Abhay Somnath B.Sc(ECS) - I1I
51 |Mbhetre Varad Shantanu B.Sc(ECS) - III
52 |Mujawar Anisha Balam B.Sc(ECS) - Il
53 |[Nalawade Shriyash Anil B.Sc(ECS) - 111
54 |Nanaware Harishchandra dnyaneshwar B.Sc(ECS) - III
55 |Nikam Ganesh Subhash B.Sc(ECS) - III
56 |Nimbalkar Dhiraj Dhanaji B.Sc(ECS) - 111
57 [Nimbalkar Madhuri Ravindra B.Sc(ECS) - III
58 |Parande Sushant Dhanaji B.Sc(ECS) - 111
59 [|Patil Harshada Haridas B.Sc(ECS) - 111
60 |Pawar Sarika Rajendra B.Sc(ECS) - III
61 |Rajput Sujata Dharamsing B.Sc(ECS) - 111
62  [Raut Bhakti Anil B.Sc(ECS) - III
63 |Raut Dadasaheb Balu B.Sc(ECS) - III
64 |Raut Sanket Balu B.Sc(ECS) - 111
65 |Salunkhe Sapana Sunil B.Sc(ECS) - III




66

Sargar Pooja Suresh

B.Sc(ECS) - III

67 |Sarje Radhika Ramesh B.Sc(ECS) - III
68 [Sawant Divya Dhananjay B.Sc(ECS) - 111
69 |Sawant Parimal Subhash B.Sc(ECS) - 111
70 |Sawant Yeshraj Vijaysinha B.Sc(ECS) - 111
71  |Sawnat Gorkhanath Sukhadev B.Sc(ECS) - 111
72  |Shaikh Nasirhusen Asidulla B.Sc(ECS) - 111
73  |Shinde Akash Subhash B.Sc(ECS) - 111
74  |Shinde Gaurav Rajendra B.Sc(ECS) - III
75  |Shinde Komal Dilip B.Sc(ECS) - II1
76  |Shinde Prasad Prakash B.Sc(ECS) - III
77  |Shinde Pratiksha Vijay B.Sc(ECS) - 111
78  |Shinde Raj Santosh B.Sc(ECS) - 111
79  |Shinde Shivani Bapu B.Sc(ECS) - 111
80  [Solankar Shivam Dhananjay B.Sc(ECS) - 111
81 |Sonawale Omkar Appaso B.Sc(ECS) - III
82 |Tamboli Nilofar Majid B.Sc(ECS) - 111
83 |Tele Amruta Mahadev B.Sc(ECS) - 111
84 |Thavare Maya Ankush B.Sc(ECS) - III
85 |Valkunde Mahaesh Bhanudas B.Sc(ECS) - III
86 |Waghmode Amruta Chandrakant B.Sc(ECS) - III
87 |Waghmode Shivratna Bhagwan B.Sc(ECS) - 111
88 |Waghmode Supriya Ramdas B.Sc(ECS) - III
89 |Waghmode Vidya Suresh B.Sc(ECS) - III
90 |Waghmode Yogita Dilip B.Sc(ECS) - 111
91 |Zanje Amruta Ashok B.Sc(ECS) - III
92 |Bagal Ganesh Gorakh BCA « 11
93 |Bhusare Akankasha Vinayak BCA - III
94  |Budhanavar Vidya Bharat BCA=III
95 |Gorave Ashish Shahikant BCA - III
96 |Gore Shital Bhagvan BCA - III
97 |Jadhav Seema Shivaji BCA - III
98 |Kambale Karan Shantaram BCA - III
99 |Kawale Priyanka Dattatray BCA - III
100 |Kumbhar Pooja Santosh BCA - III
101 |Latkar Rajnandini Shashikant BCA - III
102 |Lavate Patil Mahesh Chandrkant BCA - III




103 [Mile Vaibhav Bapurao BCA - III OF | 606
104 |Naiknaware Karuna Nagnath BCA - III O O
105 |Pawar Shivani Janardhan BCA - III OF O+
106 |Sagar Prajakta Dattatray BCA - III O 6 A
107 |Shinde Rupali Vasudev BCA - III NS (SN
108 |Waghmode Kiran Hanumant BCA - III AN Ok
109 |Zende Nikita Balaso BCA - III O OA
110 |[Waghmode Sonali Dhanaji BCA - III O 6 085
111 |Adalinge Mangesh Raosaheb M.Sc(Comp.Sci) - 11 A RS AR
112 |Aivale Divya Vijaykumar M.Sc(Comp.Sci) - 11 | ©O'F— Oé
113 |Bandgar Komal Dayanand M.Sc(Comp.Sci)-11 | O6 b6
114 |Bhosale Suraj Jagannath M.Sc(Comp.Sci) - I O | oY
115 |Bhosale Urmila Ramesh M.Sc(Comp.Sci)-11 | O S N>
116 |Bhosale Vaibhav Vasant M.Sc(Comp.Sci) - II O L A B
117 |Bobade Minakshi Sanjay M.Sc(Comp.Sci)-1I| A B [ B fo
118 |Dhole Esha Santosh M.Sc(Comp.Sci) -1 | AP | A
119 |Gaikwad Ashwini Anant M.Sc(Comp.Sci) -11 | /S S| o4
120 |Gajare Amol Subhash M.Sc(Comp.Sci)-11| O | A%
121 |Gorve Prajakta Sunil M.Sc(Comp.Sci)-11| B4 | © +
122 |Jadhav Kishor Mahadev M.Sc(Comp.Sc)-1I| O 5 [ ABD
123 |Jadhav Sudhir Shankar M.Sc(Comp.Sci) - 11 ANRs| o4
124 |Jagdale Gauri Jalindar M.Sc(Comp.Sci)-11 | A® | N>
125  |Jare Rohit Samadhan M.Sc(Comp.Sci) -11| O & 0>
126 |Karande Snehal Madhukar M.Sc(Comp.Sci)-1I| 66 | 0%
127 |Kate Priyanka Mukund M.Sc(Comp.Sci) - II AR | DT
128 |Khan Sonobar Firoj M.Sc(Comp.Sci)-1I| AR | O &
129 |Kokare Ashwini Bandu M.Sc(Comp.Sci)-11 | O o F
130 |Kudale Rutuja Popat M.Sc(Comp.Sci)-11| 0K DA
131 |Kulkarani Onkar Kishor M.Sc(Comp.Sci) -11 | © & SR &
132 |Lokhande Vishvajit Mohan M.Sc(Comp.Sci) - 11 ANl | OB
133 |Londhe Dewangi Gautam M.Sc(Comp.Sci) - 11 O & ») :}
134 |Magar Aishwarya Shrirang M.Sc(Comp.Sci) - 11 O'F ® g
135 |Magar Komal Sarjerao M.Sc(Comp.Sci)-11 | ©& | © <
136 |Magar Vaishnavi Nanaso M.Sc(Comp.Sci) - 11 O? o4
137 |Mane Swati Ramesh M.Sc(Comp.Sci) - II OR A
138 |Misal Amol Sadashiv M.Sc(Comp.Sci) - 1T NT>| O :)L
139 |Mulani Aalesha Innus M.Sc(Comp.Sci) - 11 DA | O




140  [Mulani Alfiya Babalu M.Sc(Comp.Sci)-1I| ©%B | 6L
141 |Nanaware Priyanka Popat M.Sc(Comp.Sci) -I1 | AP DG
142  [Palave Arti Hanumant M.Sc(Comp.Sci)-11 | OF | ;'
143  |Parade Tejashri Namdev M.Sc(Comp.Sci)-11| DR | B
144 |Pawar Prajakta Ganpat M.Sc(Comp.Sci)-11| O ¥ | OF
145 |Pawar Sonali Namdeo M.Sc(Comp.Sci)-11 | OF | g
146 [Sargar Mahesh Dnyandev M.Sc(Comp.Sci)-11 | A B DL
147 |Sathe Swapnil Madhukar M.Sc(Comp.Sci) - 11 | A > PVB
148  |Shaikh Muskan Mubarak M.Sc(Comp.Sci) -11 | ©“F o
149 |Shembade Pramod Balaso M.Sc(Comp.Sci)-1I | © & DA
150 |Shende Megha Sanjay M.Sc(Comp.Sci)-11 | ©F | ©F
151 |Taktode Rupali Vaman M.Sc(Comp.Sci) -1 | Y& | ©F
152 |Ughade Akshay Arun M.Sc(Comp.Sci)-11 | AR | ©L
153 |Waghmode Anil Uttam M.Sc(Comp.Sci) -1 | O | OF
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